29

o, = a o] gk

ax+2 o tiste] f(-2) =4

o f(x)

1.

@ 1 B 92

3 0



2. & f(x) = §+2, g(x) = %+ 1 of Hiate] 2£(6) - 3g(4)
Fhe?

@D -9 @ -1 3 0 @ 1 B 2



3.

Al A (-2, 0), (2, 2), (4, a) 7}

&

D1 ® 2 3 3

@ 4



A (2,3)& AUEA Y30 P HA
O x=2 @y=3
® 2x+3y=0

@ x=3



de 1AZE AYY A
ax+y=3 o
y o] Jejzolt} a4 b 9
x—2by: -1
22

1 @2

®@3 @4 OG5

[ .

Ry




Ua}etg y = ax - 6 O] 7} of3 1
mol N2 PP uf, a o FL2?

1 1
@) 5 ® _g
® 3

@

2
1
® 3

2

Sy



x— 49 Do} yZ oA Tt xAHo] 29

—

®y=-x+4



wolt}.,
15 73t

ehd 1
7S

© O
==

[e]
Abgol whgt A1 Zkah 1w 9] )

ykm %401@ 3L 9l

=
a

8.

, 8km

_#OT

@ 2A|17F

D 1A

3 8km

, 18km

__o_l

N

T

@ 34

, 16km

__OT

N

@ 24

® 4A17F & 20km



o 1

x—2y=

_ Ll
Y79
@® 174

@ 370



10.

Z}ﬁg} tg—;(cjély:ax—?, O]

=
m

S S o ghe] 99lE Potu?

<a<3

W =

)
@ -

<a<3

00\>—~

A (

@ 1<a<3

® -3<a<=-

2, 3), (3, -2) &

ol
A

IA
wl oo

A
il

1=}
L

T}



11.

o1;q_o]. y—2x+b—413H” y__ﬁ__,]lﬂ}okoi 51:1]-_:!.11:]0(1)40]

o]—Oﬂ]:-]],] 01;(]_
y=bx-a%yd

@ -2 @ 2

A
Ary =ax-

29 27} 5t o o, Axjet

A& Fota?

A7 @ -7 ® 5

=
(e

A~

T



12.

N

1AF13 ABCD 9] Z313 BellAl AD <l A
St o] A EE At A PUE A
Wsle] £ 1em2 A CE I &4
s —1—‘1%‘/\]'—1 ° EBCPJ I;]O]E ychE}
A SFEY x, yo BAACly =ax+ b &
vebgtet, ol a4 b o) g2 Fatofet,

e
=%

|

;é S e .
il m]o
| m-ml

=

10cm

0. -

SCME

&,

@)

T--17cm--"~



214 2ax + 3by = 1, 3bx + 2ay = 1 ©] FPT wj, q,b Ao]2]

AL E Totofe,

o

SERE

13.

o)



14, oh& 28elA A4 02 x—y = 09] T2 Zeleh. ABOC ] Hel7}6
o3 C o] &7} (6,0) Y uf, ABOC €] Holi= AAOB 2] & #j31%]
Saolat

YA

~JA




I
%O
o
or
T
N
o
N
S+
T W
™ g
[y
i
l_l
>, o
o Ng
ed
call
S]
X 4+
Bl oy
T
X B
o g
=9
[
P
— <
KR+
[
o~ S



